@ (x-2)2%2=x>-4x+4
® (x+3y)? = x% + 6xy + 9?
@ (x-2)2%2=x>-2x+4

® (x—2y)2 = x? — dxy + 4y?



2. the F oAl 2L

DO x24+2x+1=x%-1 @ x*+3=(x-1)?
® (x=1)(x+2) =4x @ x3-x*+2x=0

B 2x-5=0



X2 o] Tz it 49 F &A

@ HAH 2= (0,4) oIt
@ y =l tiste] F-¢iFolnt.

@ offlz 253 T ot

@ y=—x*-2 9] 2z} x Fof tfsto] tiF o]t

® y&HdHL 9 ot}
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OV y = ~(x+2)? o y2] e WL

®y>-1 @ y<-1

@ y<0 ® y>1

®y=>0



5. (x+y-5)(x-y-5)E A7Mst=d 7 Adt 427

@ {(x+y)-5f(x-y) -5} @ {(x+(y-5)Hx-(y+5))

~

® {(x=5) +yH(x—-5) -y} @ {x+ (y-5MHx-y) -5}

® {(x+y)+5H(x-y)+5)



6.

2 E 0l

2x% — 6xy — 8y

@D (2x—4y)(x+ 2y)
® 2(x-4)(x+1)
® 2(x-2y)?



O (x+y)(x-y)(x+1) @ (x+1)(x-y)y-1)
® (x+1)(y-1)(x+y) @ (x+1)(x-1)r-1)
® x2(y-1)
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8.  (2x-1)°—(x+2)*& AFEH5H (3x + a) (x + b) 7} Dt et
o

1
ol W, a-b°] = F5HH?

D -1 @ 3 ® 0 @ 2 ® 4



9. ta dgEs] HENA ol A BF A=Y (Fa>0,b>0)

Ayl dy -1 = - (D2 -+ 1) =2 - (y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@ a®-2ab + b* = (a-b)*
® a?>-b?>=(a+b)(a-Db)
@ x*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)



10. (x+2)(x-5) =00°] &l =A sl x 9] #=2] =& FsHH?

D 1 ® 2 3 3 @® -3 B -4



® -=10 3 3

@D 10
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® y = 3x?

@ y=-x*

® y=-3x2



13. ohg 23 2o 7=, A2 Bol7} 7, 4x 9 AAFZGA 712
Lol 3w Solu AR o] Aol 1 W Z4rt. o u, A
A2t 0] Yol

_—=Tr=-=__ -3

~

® 20x2-5x-3 @ 20x*-5x+3 ® 20x% +5x-3

@ 98x2 +5x—3 B 28x2 +5x+ 3



14.

oJZFA] x* + Ax+B & 5 &
Z5 Hof (x+4) (x+3) ©]
(x+1) (x+7) °] Het. v=

AE?

D x+2)(x+6) @ (x+1)(x+6) @ (x-2)(x-6)
@ (x-1)(x-6) ® (x+3)(x+4)
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TEeEx=-3
Pr:—li)c:—1
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A% 1 2E 717 o]

e g : Y,

@D 25 @ 26

3 28



17. of@ 5 xoll 45 Bl AFohol T 2L TRl 4915 soir.
a9l AT 29kt o] w, x 9] ZHe(H, x < 0)

D -1 @ -2 ® -3 @ -4 ® -5



18. AAollA 20m 9] Eolo & AEL] L4404 24 30m 2 FHIZ
A= AR F9 x = F9] =olE hmef SHA h = —5x% +30x+20 <!
TAZ Aeeh Fo] A AE9 84 R Hold wj7hx] A=
Ede=yi

D 2% ® 4 % B 6% @ 8 % G 10 %



19.

o 23 Zo] |H7L
15m ¢l ek AAg 1
Foz HJolA BETS THE
# I gt @ o] yolzt
25m? uff, x o] kS 5

D 2x2-25x+15=0
@ 25x2-6x+6=0

3 2x2-25x-15=0

K---—--------

TN

T~-15m--"~

@ 2x*-15x-25=0

@ 2x2-15x4+25=0



20. thg 179

ojxtgto] I Fy =
o] 9hs] B 5 Qe AL BE TEW?
[a |
H7]

@D y=-2x>+2

O y=2+%-3

© y=-2(x+1)

® y=x>+3x+3-3(x-1)(x+1)

6x2 -2
@y= 3

® 9,00 ® 0,00 ® 9.6
@ A).0.0 B A.6.0



